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For some students, algebra is a very complex topic. If you find that your child is struggling with 8th grade algebra problems, here are three areas that you should look for to improve. 1. Strengthening the basic mathematical skills of algebra about taking information you already know about numbers, expanding it, and then applying it.
Students who do not have a solid foundation in addition, subtraction, multiplication, separation, decimal signs and factions will struggle when they reach the 8th grade algebra. Creating and improving these basic skills can help set your child up for greater success. 2. Check your child's understanding to solve the basic equations
Problem Equations is the core of the 8th class of algebra. Students start by learning to solve simple linear equations with only one variable, such as 35 and 4x No.7. If students did not have a solid foundation in learning how to solve equations, then this kind of equation can be challenging for them. The key to teaching your child how
to solve equations is to think of a problem as a balance: each side must stay balanced and an equal sign is the linchpin. In order to determine what a variable is, you need to add, subtract, multiply, or divide to get rid of the numbers surrounding the variable. However, since it is a balance, whatever you do on one side of the equal
sign, you have to do with the other. So in the example of 35 and 4x 7, you'd start by subtracting seven on both sides of the equal mark. This gives you 28 and 4x. To decide for X, you need to divide the two sides into 4. 3. Check that your child can use the distribution property Once your child understands how to solve linear
equations, they will face more complex algebra problems. A student may, for example, have to decide: -9 - (9x-6) No. 3 (4x No. 6) In order to begin to solve this problem, the student must simplify it with the help of distribution property. The student distributes the negative sign before (9x - 6) and 3 before (4x No. 6). Distribution
involves multiplying everything inside the bracket by coefficient. In the case of the mark, the ratio is 1. Now the problem becomes -9 - 9x and 6 and 12x 18. The student combines -9 and No.6 to yield -9x - 3 and 12x 18, and the problem is solved as a simpler algebraic expression. Failure to understand and properly apply a
distribution property from the outset will make this algebra problem seem very difficult. This is why understanding certain skills and strategies is so important for algebra. Join a digital math training program to help with 8th grade algebra problems Did you notice your child struggling with 8th grade algebra problems? There are
various mathematical help solutions available, and a digital math training program, like Thinkster Math, can help child to improve their algebraic skills. With C Your child receives a certified trainer right in the comfort of your own home. If your child needs extra help with basic math skills that were taught prior to 8th grade or current
algebra problems, Thinkster can help comfortably and efficiently. Class 8 algebra issues with solutions are presented. There are issues on solving equations, simplifying expressions, including expressions with factions. NOTE: In the following, mixed numbers are written in the form of b/c. For example, 2 1/3 means mixed number 2
and 1/3. A) -2x - 5-10x - 9B) 3 (x 7) - 2 (-x 4) - 5x Simplify expressions. A) (2x - 6) / 2B) (x - 2) / (x g 2)C) (5x - 5)/10Solve for x following equations. A) -x 6B) 2x - 8 - x -x 4C) 2x - 1/2 - 2/3D) x/3 - 2 - 5E) -5/x - 2Evaluate for these values x and y.A) x2 - y2 , for xy 4 and y 5B) , for x -2 and y 3C) 3x3 - 4y4 , for x -1 and y -2Sole next
inequality. A) x 6 zIt; 0B) x 1 zgt; 5C) 2 (x - 2) zlt; 12What is the reciprocal of each of the following numbers? A) -1B) 0C) 3/4D) 2 5/7E) 0.02 Approve the following expressions associated with mixed numbers. A) 3 3/4 and 6 1/7B) (1 3/5) x (3 1/3) - 2 1/2C) (5 2/3) x + (4 1/5)D) (3 4/7 - 1 1/2) + (2 3/8 and 2 1/4) Rate exponential
expressions. A) -42B) (-2)3C) (-2)4D) 10000E) 5661Convert to fractions and write in the simplest form. A) 0.02B) 12%C) 0.5%D) 1.12Convert for decimal signs. A) 1/5B) 120%C) 0.2%D) 4 8/5Convert to percentage. A) 3/10B) 1.4C) 123.45D) 2 4/5Why of these numbers is divided into 3? A) 156312B) 176314What of these numbers
is divided into 4? A) 3432B) 1257What of these numbers is divided into 6? A) 1233B) 3432What of these numbers is divided into 9? A) 2538B) 1451Evaluate 8x - 7, yunTbiBasi, 4To X - 3 - 10.PelleHnsi 1 OTBETbI Ha BbilLENEPEYUCIEHHbIE BOMPOCLIA) -2X - 5 - 10X - 9 : gaHHbIin ( 10X - 2x) - (5 - 9) : NONOXMNTb, KAK TEPMUHbI BMECTE 4 :
groupB) 3 (X -7) -2 (-x - 4) - 5X : gaHHbI 3x - 21 - 2x - 8 - 5x : expand ( 3x - 2x - 5x) A) (2x - 6) /2 : paHo 2 (X - 3) / 2 : thakTOp 2 B uncnuTeTe X - 3 : pasgenmte YACIUTeNb U 3HaMeHaTe b Ha 2 ansa ynpoweHusaB) (-x - 2) / (x -2) : gaHo -1 (x -2) / (x - 2) : dpakTop -1 B uncnute -1 : pasgenvte YncnuTeNb U 3HaMmeHaTe b Ha X - 2 AN
ynpouweHnsaC) (5x - 5)/10 : gaHo 5 (x - 1) / 10 : cpakTop 5 B uncnuteope (x - 1) / 2 : pasgenute uucaitesnb U 3HaMeHatesib Ha 5 ang ynpoueHusA) -x @ givenx -6 : multiply both sides of the equation by -1B) 2x - 8 - -x - 4 : given2x - 8 - 8 - x 4 x 8 : add No08 on both sides of the equation2x -x - 12 : group as terms2x - X -X - 12 x : add x
to both sides 12 : group, group, group, group, group, group, group, group, group, group, group, group, group, group, group, group, group, group, group, group, group, group, group, group, group, group, group, group, group, group, group, group, group, group, group, group, group, group, group, group, group, group, group, group,
group, group, group, group, group, group, group, group, group, group, as termsx No. 4 : mutliply both sides on 1/3C) 2x and 1/2 2/3 : given2x 1/2 - 1/2 2 : subtract 1/2 on both sides2x No 1/6 : group as termsx No 1/12 : multiply both sides by 1/2D) x/32 -2 -5 - 2 : Bbl4eCTb 2 ¢ 06enx CTOPOHX/3 : rpynna, kak termsx No 9 : yMHOXUTb
06€ CTOpOHbI Ha 1/2E) -5/x No 2 : gaHHbIA-5 1 2X : YMHOXMWUTb 06€ CTOPOHbI Ha X N YNPOCTUTb-5/2 2 X : yMHOXbTE 06€ CTOPOHbI Ha 1/2A) X2 -y2 , XN 4,1 5 : given42 - 52 : 3aMeHUTb X N Y NO JAaHHOMY 3Ha4YeHUsIM , X -2 , ¥ 3 : AaHo 4 (-2) - 2 (3) : 3aMeHUTb X N Yy N0 AaHHOMY 3Ha4yeHusIM 14 : oueHkaC) 3x3 - 4y4 , x -1, 1 -2 : given3 (-
1)3 - 4(-2)4 : 3aMeHNTb X U Y N0 AaHHOMY 3HA4YeHMAM -3 - 64 -6 7 : oueHNTbA) X 6 &lt; 0 : givenx No 6 - 6 &lt; -6 : BblueCTb 6 ¢ 06enx CTOPOH &lt; -6 : rpynna, Kak TepMnHbIB) X 1 &gt; 5: givenx 1 -1-11 &gt; 5- 1 : BbiuecTb 1 ¢ 06enx CTOPOH &gt; 4 : rpynna, kak termsC) 2 (x - 2) &lt; 12 : givenx - 2 &lt; 6 : mutliply o6e cTopoHbI B 1/2X
-2n2&It; 6 n2: pobasbTe 2 K 060MM sidesx &lt; 8 : rpynna, kak TepMuHbIA) (-1) a No 1 : onpegeneHuve: a anseTca B3aMMHbIM -1a No 1/-1 - -1 : pewnTb N4 a; -1 asnsetcs B3aumMHbIM -1B) (0) b g 1 : onpegenenne: b sensetca B3aumHbiM Ob - HeonpeaeneHHbIM : HET 3HaYeHus b ya0BNeTBOPSET BbilLeynoMsiHyTomy equationC)
(3/4) c 1 : onpepeneHue: ¢ aBnseTcs B3aMMHbIM 3/4c 1 4/3 : pewnTb aNna c; ¢ q 4/3 asnaetca B3anmHbiM 3/4D) (2 5/7) d 1 : onpepeneHuve: d anseTcs B3auMHbIM 2 5/7. (19/7) d No 1 : KoHBepTMpOBaTb cMellaHHoe uncno 2 5/7 B fraction.d n 7/19 : : pewntb ana d; d 7/19 asnsetca B3aumHbiM 2(5/7)E) 0,02 g 1 : onpegenexue: d
agnsaetcd B3anmHbiM 0.02.d 1/0.02 : pewntsb g1a d; d = 50 is the reciprocal of 0.02A) 3 3/4 + 6 1/7 : given= (3 + 6) + (3/4 + 1/7) : put the whole parts together and the fractional parts together.= 9 + (21/28 + 4/28) : add.= 9 25/28B) (1 3/5) x (3 1/3) - 2 1/2 : given= (8/5) x (10/3) - 2 1/2 : convert mixed numbers to mupliply into
fractions.=80/15-21/2=51/3-21/2 =4 4/3 - 2 1/2: mupliply and write as mixed number if possible= (4 - 2) + (4/3 - 1/2) : subtract= 2 5/6C) (5 2/3) + (4 1/5) : given= (17/3) + (21/5) : convert mixed numbers to fractions.= 85/ 63 : divide fractions= 1 22/63 : write as mixed numberD) (34/7 -1 1/2) ~ (2 3/8 + 2 1/4) : given=[(3 - 1) +
(417 - 1/2)] + [(2 + 2) + (3/8 + 1/4)]: evaluate numerator and denominator as fractions.= (2 1/14) + (4 5/8)= (29/14) + (37/8)= 116/259A) - 42 = - (4 x 4) = -16 : expand and calculateB) (-2)3 = (-2)x(-2)x(-2) = -8 : expand and calculateC) 10000 = 1 : definition: any nonzero humber to the power zero gives 1D) 5661 = 566A) 0.02 =
1/50B) 12% = 3/25C) 0.5% = 1/200D) 1.12 = 28/25A) 1/5 = 0.2B) 120% = 1.2C) 0.2% = 0.002D) 4 8/5 = 5.6A) 3/10 = 30%B) 1.4 = 140%C) 123.45 = 12345%D) 2 4/5 = 280%A) 156312 , is divisible by 3B) 176314 , is not divisible by 3A) 3432 , is divisible by 4B) 1257 , is not divisible by 4A) 1233, is not divisible by 6B) 3432 , is
divisible by 6A) 2538 , is divisible by 9B) 1451 , is not divisible by 9Evaluate 8x + 7 given that x - 3 = 10.x - 3 = 10: given equationx = 10 + 3 = 13: solve the given 7 n 111 3amMeH!Tb X Ha 3 B JaHHOM BbIpaXXeHUN 1 OLeHUTb. MaTemaTuka cpefHeli Wkosbl (knaccol 6, 7, 8, 9) - becnnartHble BONPOCLI 1 NPo6/1eMbl C OTBETaMU CpeaHel
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